
WS 4 – BASIC TRIG VALUES 
 
1. Find the value of each:  

a. 
π3sec
4

 

b. 
πtan
2

 

c. 
π7cos
6

 

d. 
πsin
3

 

e. 
π3cot
2

 

f. πsec   

g. 
π2cos
3

 

h. 
πsin
6

 

i. 
π7sec
4

 

j. 
π5sec
6

 

k. 
π5csc
6

 

l. 
π4tan
3

 

m. 
5tan
4
π

 

 
2. Convert each radian measure to degrees. 

a. 
3
2
π

 

b. 
4
3
π

 

c. 
13
18
π

 

d. 
2
9
π

 

e. 
41
180
π

 

f. 
π

360
 

g. 
7
3
π

 

h. 
π7
6

 

i. 3π

3. Convert each degree to a radian measure. 
a. 240  
b. 140  

c. 110  
d. 300  

e. 2  
f. 150

 
 
 
 
 
ANSWERS 

1. -  

a. 2−   
b. undefined 

c. 
3

2
−  

d. 
3

2
 

e. 0 
f. -1 
g. -½  
h. ½ 

i. 2  

j. 
2 3

3
−  

k. 2 

l. 3  
m. -1   

 
2. – 

a. 270  
b. 240  
c. 130  

d. 40  

e. 41  

f. 1
2


 

g. 420  
h. 210  
i. 540  

3. – 

a. 
4
3
π

 

b. 
7
9
π

 

c. 
11
18
π

 

d. 
5
3
π

 

e. 
90
π

 

f. 
5
6
π



 


